            MΑΘΗΜΑΤΙΚΑ ΕΠΑΝΑΛΗΨΗ
                       ΚΕΦ.35                         
                            ΔΙΑΧΕΙΡΙΖΟΜΑΙ ΑΡΙΘΜΟΥΣ ΩΣ ΤΟ 20.000
                            ΛΥΣΕΙΣ ΑΣΚΗΣΕΩΝ
1   Α.  β)  12.364+5.000+30=17.364+30=17.394
 γ)  13.632+4.000+15=17.632+15=17.647
 δ)   14.685+6.000+35=20.685+35=20.720
 ε)   17.118+3.000+45=20.118+45 =20.163
     Β.   β)   16.564+2.000-20=18.564-20=18.544
           γ)    14.785+4.000-25=18.785-25=18.760
           δ)   13.654+5.000-15=18.654-15=18.639
           ε)   12.438+6.000-40=18.438-40=18.398
     Γ.   β)   19.870-3.000-100=16.870-100=16.770
           γ)   18.587-4.000-200=14.587-200=14.387
           δ)   13.650-3.000-25=10.650-25=10.625
           ε)   15.364-8.000-14=7.364-14=7.350
     Δ.   β)   19.576-5.000+35=14.576+35=14.611
           γ)   18.395-8.000+50=10.395+50=10.445
           δ)   17.564-5.000+60=12.564+60=12.624
           ε)    19.768-3.000+30=16.768+30=16.798
     2.   β)   16.748+2.000+300+90=19.138
            γ)   12.864+6.000+500+70=19.434
           δ)   17.186-6.000+8=11.186+8=11.194
[bookmark: _GoBack]           ε)   12.612-9.000+20=3.612+20=3.632      



